                                               KEY                                                                                               SCORE _____/34
Ch. 19: The Second Industrial Age         Section 2_          Open Book Quiz 

FILL IN THE BLANK (2 PTS.)  PLEASE LIST PAGE NUMBER OF ANSWER 
                        Multiple Choice : Identify the choice that best completes the statement or answers the question.          
                      __b_  1. Which of the following is true about stockholders?    
Pg # 620

a. They must pay the corporation's debts.

b. They can sell their stock shares at any time.

c. They are responsible for the corporation's policies.

d. They vote directly for the corporation's president.

        __d__  2.  Andrew Carnegie managed to keep production costs for his steel mills low by   Pg # 620
a. applying for government loans and taking advantage of corporate tax breaks.

b. using assembly lines and other advanced manufacturing methods

c. purchasing machinery to produce steel instead of hiring workers.

d. owning the businesses involved in each step of the manufacturing of steel.

          __c__  3. Leland Stanford believed that industries should   Pg # 621
a. allow large corporations to obtain monopolies.

b. be owned and managed by one person.

c. be owned and managed cooperatively by the workers.

d. join together to increase business.

           __ a __ 4. Of which practice would entrepreneur John D. Rockefeller have approved?  Pg # 621
a. purchasing all of the businesses in a single field to control production    

b. promoting competition between companies to improve quality

c. letting the government monitor and manage business deals

d. providing different boards of directors for every branch of a business

           __b __  5. Vertical and horizontal integration were strategies designed to     Pg # 620-621
a. end unsafe working conditions and promote cooperatively run corporations.

b. eliminate competition and control every step of the production process.

c. encourage existing stockholders to purchase more shares.

d. give stockholders control over corporations.

          __ b __ 6. Social Darwinism is the idea that      Pg # 621
a. business is becoming less and less human.

b. only the fittest individuals succeed in society.

c. successful businessmen must aid the poor.

d. all men should share the profits of business.

          __ b __ 7. Which of the following is an example of vertical integration in the movie business?

a. owning the majority of the movie theaters in the country and around the world   Pg # 620
b. acquiring studios, theaters, and TV stations involved in making and distributing movies

c. the industry should be owned by actors, directors, producers, and studio executives alike

d. justifying business methods on the grounds that those naturally inclined to succeed will survive in the industry

          __ d__ 8. The Sherman Antitrust Act was a law passed by the Congress in 1890 that    Pg # 622
a. allowed businesses to charge more than market value for a particular product.

b. protected the rights of laborers working for large corporations.

c. allowed corporations to force competitors out of business.

d. prevented any corporation from creating a monopoly.

          __ a __ 9. How did the Sherman Antitrust Act affect big businesses in America?   Pg # 622
a. The act was difficult to enforce, so big business continued to grow in America.

b. The act declared monopolies illegal, which allowed smaller businesses to prosper and grow.

c. The act forced big businesses to improve working conditions for their laborers.

d. The act satisfied the concerns of the voters about the growth of big business in America.

          
Study the political cartoon below and answer the question that follows.
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   __ c __ 10.  What does the cartoon illustrate?  
a. Rockefeller’s monopoly over the oil industry in America

b. the struggle between big business and the government

c. Rockefeller’s financial control of the government

d. the government’s attempt to regulate big business

         __ c __ 11. Monopolies were criticized as unfair because they   Pg # 622
a. illegally restrain international trade.

b. give too much political power to the president of the corporation.

c. raise the prices and reduce the quality of specific products.

d. prevent stockholders from controlling a corporation’s policies.

                              Completion:  Complete each statement.withone of the pair of word choices

                    12._ Stockholders __ own a corporation, but they do not make its day-to-day business decisions. (CEOs or Stockholders)    Pg # 620

                    13.Standard Oil developed __ horizontal _ integration by buying nearly all other businesses in its field. (horizontal or vertical)   Pg # 621

                    14.The belief known as ___ Social Darwinism ___ said that the “fittest” people would succeed in business and in their lives. (Social Darwinism or natural selection)  Pg # 621
                                 True/False: Indicate whether the statement is true or false, using "T" or "F".
           __F__ 15. A corporation’s stockholders are responsible for helping the corporation pay its business debts.
      Pg # 620
          __ F __ 16. Andrew Carnegie succeeded because he owned businesses that were involved in each step of 
                            the manufacturing process. The name for this strategy is horizontal integration. Pg # 620-621
          __ T __ 17. Big business continued to grow in America despite the passage of the Sherman Antitrust Act, which was difficult to enforce.  Pg # 622






